Symbolic Logic
Midterm Exam
Martin, 00:2


NAME:______________________________       Signture:___________________________

General Instructions.  In truth-tables and proofs, please abbreviate predicates to just the first letter.  That is, instead of writing Dodec(b) write D(b), and instead of Loves(c.d) write L(c,d).  In each proof in Fitch, number each line and cite the rule and previous lines used in applying a rule of inference.

1.  Translate into FOL the following sentences, first explaining your constants and predicates:

Symbols: ___________________________________________________

___________________________________________________________

A.  Claire feeds Scruffy only when he's hungry, but Max feeds him when he isn't.
___________________________________________________________

B.  Max does not runs with Clare unless Scruffy is running with her too. 
___________________________________________________________

C.  Either Claire and Scruffy run with Max, or neither does..  Translate once without and once with the biconditional.

Without:____________________________________________________

With:_______________________________________________________

2.  Create a Tarski World in which all the following are true:

(((FrontOf(b,a) ( SameCol(c,b))

((Cube(a) ( Tet(b)) 

(SameRow(a,c)

(Small(c) ( Adjoins(a,c)

(Cube(b) ( Dodec(c)
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3.  For each of these two arguments:

A.  Test by a truth-tables whether it is valid.

B.  If invalid, draw Tarski World showing why.

C.  If valid, give a proof in Fitch

(Dodec(b)(Cube(e) 

(Dodec(b)

Tet(b) ( Dodec(b) ( (Cube(e)

Therefore, Tet(b)
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Proof:

Cube(d) ( Tet(a) ( (Dodec(f)

(Tet(a)((Dodec(f)

(Tet(a)

Therefore, Cube(d)
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Proof:

4.  The following two sentences are either consistent or inconsistent.

A.  Test to see which by a truth-table.

B.  If consistent, construct a Tarski World showing they are..

C.  If inconsistent, give a proof in Fitch showing they are.

(Dodec(d) ( (Tet(c)

Tet(c) (Dodec(d)  

B.  If  consistent, creat a World showing so :
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5.  Prove the following argument in Fitch:

P ( (Q

Therefore, P(Q

A.
























    Consistent or inconsistent?____________

C.  If inconsistent, give a proof in Fitch:

6.  Prove the following argument in Fitch:

a=b 

(((Dodec(a)((Tet(b))

Therefore, Tet(a)
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